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SODIUM THIOSULFATE,0.025N,4LITRE W2337

IODINE SOLUTION  .025N    1L W2349

Starch Solution, 4L W2277

Run Number: Constant: 16000

Parameter: SUPERVISOR REVIEW BY:

Analysis Method: ANALYST:

Analytical Summary Report

Normality1:
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9034

LB96483
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Diff (mL)
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(g)

1 PB110901BL 50 12:1507/06/20180.004.824.820.005.005.031 0.000.18

2 PB110901BS 50 12:1807/06/2018200.402.302.300.005.005.031250 2.522.70

3 J3879-01 50 12:2207/06/201865.214.004.000.005.005.031 0.821.00

4 J3879-01DUP 50 12:2507/06/201866.933.987.984.005.005.021 0.841.02

5 J3879-01MS 50 12:2807/06/2018192.062.402.400.005.005.041250 2.422.60

6 J3879-01MSD 50 12:3207/06/2018190.482.424.822.405.005.041250 2.402.58

7 J3879-03 50 12:3507/06/201863.624.024.020.005.005.031 0.800.98

8 J3879-05 50 12:3807/06/201876.193.867.884.025.005.041 0.961.14

9 J3879-07 50 12:4207/06/201849.504.204.200.005.005.011 0.620.80

10 J3879-09 50 12:4507/06/201857.034.104.100.005.005.051 0.720.90

11 J3879-11 50 12:4807/06/201871.713.928.024.105.005.021 0.901.08
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1
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12 J3879-13 50 12:5207/06/201869.983.943.940.005.005.031 0.881.06

13 J3879-15 50 12:5507/06/201879.843.827.763.945.005.011 1.001.18

14 J3879-17 50 12:5807/06/201863.624.024.020.005.005.031 0.800.98

15 J3879-19 50 13:0207/06/201898.803.587.604.025.005.021 1.241.42

16 J3881-01 50 13:0507/06/201884.133.763.760.005.005.041 1.061.24

17 J3881-03 50 13:0807/06/201886.403.747.503.765.005.001 1.081.26

18 J3881-05 50 13:1207/06/2018107.723.463.460.005.005.051 1.361.54

19 J3881-07 50 13:1507/06/201894.023.647.103.465.005.021 1.181.36

20 J3881-09 50 13:1807/06/201880.953.803.800.005.005.041 1.021.20

Page 2 of 2

T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1


